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Provide neat and complete solutions.
Show all necessary steps for full credit and write the answer in simplest form.

No Calculators, Pagers, or Mobiles are allowed during this exam.
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Show all necessary steps for full marks.

Question 1: (5 points): (Textbook R.2 Exercise 75, page 18): Use the distributive

property to calculate the expression 123;’ 1%—232 11

2

Solution:

123201 23° 41 13(1235-23§j=§(100):1.5(100):150
8 2 872 2 8 8) 2

Question 2: (8 points): Write each of the following without the absolute value symbols.
(a): |—x|, ifx <0,

(b): [3.14—7|
(©): |-8-4m| , if m>-2
(d): [2m+11+[2m—-22| , if ~-5<m<10.

Solution:

(@): |-x|=-x, ifx <0,

(b): B.14-7z|=-(8.14-7)=7r-3.14 (Because 3.14—7 <0)

(C): |-8—4m|=—(-8—4m)=8+4m (Because -8—4m<0 for m >-2)

(d): [2m+11]+[2m—22| =(2m+11)+[ —(2m-22) | = 2m+11-2m+22 =233
8X%+4X +6

3 J—
Question 3: (6 points): 4 =7
2x -1

Solution:

3) When dividing w the remainder is:

-1
X -"33(-1-*
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Answer: ax_ 8 +4X+6=2x2—3x +£+ 2
2x -1 2 2x -1

Question 4: (6 points): If A={x|x<-2}U{x|x>1} and B ={x|x>-3}"N{x|x <5} then

the set A(] B in interval notation is equal to
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127 (=3,-2] U1, 5)

(b) [-2,5) (d) (=3,1]

(¢) (=00, =3)Ull, ) (e) the empty set ¢

Solution:

A « —>
< 2] [1 >

B W

ANB =(-3-2]U[L5)

2

Question 5: (8 points):  Given the polynomial (3x*-2) —(2x* —x —3)(2x*—x +3)
Write down the following :

The leading coefficient | The constant Term | The coefficient of x° | Degree

Solution:
f (x)=(3x2—2)2—(2x2—x -3)(2x*-x +3)

=9x4—12x2+4—[(2x2—x)—3][(2x2—x)+3]
=9x4—12x2+4—[(2x2—x)2—32}
:9x4—12x2+4—[4x4—4x3+x2—9]
=5x*+4x°%-13x?+13

The leading coefficient | The constant Term | The coefficient of x° | Degree

5} 13 -13 4

Question 6: (6 points): (R.4 Exercise 22, 23) : Factor
(@): 15-5m?*-3r®+m°r?

(b): p’g*-10-29*+5p?

Solution:
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22, 15-5m° =3  +m*r?
=(15-5m*)—(3r* —m
=5(3-m*)-r*(3-m")
= f?—mEJES— j‘EJ

2.2

)

23, quz —l{f}—qu -l—Sp3
27 . 2 q
=p-g-—2¢"+5p 10
:q31p2—2J+51p2—2J
=fpz —2.][(]"3 +5)

5 2 60

Question 7: (6 points): (R.5 Exercise 58) : Simplify +— -—=7
X+2 X°=2x+4 x°+8

Solution:

g 5 L2 60 5 2 60

3 - = 5 - (2
x+2 P -2x+4 P +8 x+2 - 2x+4 {_1‘+'E}|I[_=."—3.i'—4)

5[ 204 L2+ 60
(x+ 'E}[j.rz -2x+ 4] (x+2) |{..r2 -2x+ 4) (x+ 'E:](.r2 -2x+ 4)

S(x7 20+ 4)42(x+2)=60 5.2 10,2204 21+ 4-60
([P e2+d) (we2)(x? - 204
Sx°-8x-36  (x+2)(5x-18)  5x-18

(x+ 'E}[j.rg -2x+ 4) (x+ 2}[:_r3 -2x+ -t] T xt-2x+4

) ) . ) ) 1 3 1

uestion 8: (5 points): (R.7 Exercise 89) : Simplify —+—+—
Q Gp ): ( ) plify NN RN
Solution:
%0 L_Fi_ I —L-F 3 4 I

BN RN R CT N SR PRGN (T3]

| 3 1
IV REN AN

41, 3.2 |
2242 42

6 1

+4.ﬁ+4ﬁ

C4+6+1 11

CIN2 W2 12

422 42 8
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